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1. WHS-19 T Wl AM—anifey gt WO T 9 WA W HS@ET
mmamﬁﬁwmm?
(1) U g (2) o ¥ (3) T d (4) TG oA

Which Indian Economist has been appointed on the UN high level advisory board for socio-economic
challenges in post Covid-19 World ?

(1) Arundhati Roy  (2) Amartya sen (3) Jayati Ghosh (4) Raghuram Rajan

2. I SO g NOE, s e qafa Sl v e, ST, (PSA)
fereamt @ amg ?

(1) S R sisandsm (2) e e afesreie

(3) WETd R detEgm (4) ) feg SR

PSA Oxygen plants were sanctioned for installation in public health facilities. What is the expansion
of PSA ?

(1)  Pressure Swing Adsorption (2) Pressure Slip Adjustment

(3)  Primary Storage Administration (4) Primary Slip Adjustment

3. UF.-47 gowen R W wia qeeyw de A a et e ok ?

(1) Tad= = (2) F=EI Heim

(3) a9 faam (4) 9 vai

Who among the following has developed World's First bulletproof helmet against AK-47 Bullet ?
(1) Bipin Rawat (2)  Vedprakash Malik

(3)  Ancop Mishra (4) Ranjan Mathai

4 T ¥ A e 1 A, A ST S TS g W AT 7

(1) T (2) s (3) Fgu (4) SRy
My Pad My Right’ project, an initiative of NABARD, has been launched in which state ?
(1)  Gujarat (2) Tamil Nadu (3)  Tripura (4)  Uttar Pradesh
-_'_‘—--___
S Wi Fvrar e @Rl (J@ Tard) Eﬁaﬂmwﬁammmfwnwﬁamﬁqﬁam
T HTAT TG 7
(1) zzar (2) wWrH (3)  oneferan (@) &
Which of the following countries has changed a word in its National Anthem to honour indigenous
People ?
(1) rtaly (2) France (3)  Australia (4) Spain
R
P2 FIARE A / SPACE FOR ROUGH WORK PT.0.
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6. 3oaﬁzozlﬂﬁﬁmﬁmmumﬁm%mﬁﬁmgﬁw &l
(1) AR (2) &7 (3) WRa (4) I
Which country has been certified as Malaria-free by the World Health Organisation on June 30,
20217
(1) Bangladesh (2) Canada (3) India (4) China
7 e i uRke enfeae witr e anfRE -, Sai el T 7
(1) (2) w9 (3) €9 (4) wTHA
Which country has launched the first Arctic-monitoring Satellite ‘Arktika-M" ? 1
(1) Russia (2) Japan (3) China (4) Germany
8. IV T WIHTTH ‘HT Hed’ Arared] Wieren el Tgu[ Tfa el ?
(1) TETH (2) Fafmm (3) s (4) T
Which state Government has declared a fish named ‘Copper Mahseer’ as the ‘State Fish' ?
(1) Assam (2) Sikkim (3) Qdisha (4) Manipur
9. FSI-iiiEH A U1 HIEAE A FIARE T, mﬁﬁmmﬁm@%mnﬁﬂﬁm
T et el wdwEeTa sidE e e ?
(1) WFd ) T=IH (3) gar (4) it ATEr .
What is the name of a trilateral program by the UK, the US and Australia to take up security challengi
in the Indo-Pacific ?
(1) AUKUS (2) INDPAC (3) UUSA (4) None of above |
10.

= dZH SN TAM A1 AW EAF ATEH B9l e 7

(1) W A (2 Febmama  (3) R
Who is the author of the book titled ‘The Battle of Rezang La’ ?

(1) Santosh Yadav  (2) Kulpreet Yadav (3) Neha Singh (4)

(4) faera <

Vijay Dahiya

=1 FIHIEE AT / SPACE FOR ROUGH WORK
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11. T ST AP ST T Wi o 2amer wraE B Pl St o o ?
(1) 3<s (2) @ e (3) ot (4) wr9
hh':ihr:icstl:e?;the following country has appointed Anita Anand of Indian origin as its new Defence
(1)  England (2) Canada (3) America (4) France
12. STAMATRETS! SNIYART ot i e #5 I amk.
SV L (2) € (3) wHag (4) o=
Asia’s longest high-speed track for automobiles has been developed at
(1) Pune (2) Indore (3) Mumbai (4) Chennai
13. TN M AG.O.HOTGE. (LGMS) TR Gidet s S ae ?
(1) amam (2) airden Q) @ (4) ArTes
Which state has launched a portal named ILGMS ?
(1) Assam (2) Odisha (3) Kerala (4) Nagaland
14. TG WOt HHEVT a1 HE Haewad) Sy Faw Fram o o 7
(1) sles f@r (2) o
(3) &1 AT (4) TS afiE
Who has been appointed as the director of the Zoological Survey of India ?
(1) Ashok Singh (2)  Dhriti Banerjee
(3) Sneha Aggarwal (4)  Drishti Dhamija
15, 37 FHor & TH SARam T Wi Tah MBI wuw aive ooy s 3o ok ?
(1) arif (2) ofreferat (3) (4) s
Emma Mckeon is the first female swimmer to win seven medals at Single Olympic games, she is a
citizen of which of the following countries ?
(1) USA (2) Australia (3) Germany (4) England
ST FHIAE AT / SPACE FOR ROUGH WORK PT.O.
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16. "ﬂmﬁw,mmm&tmmmﬂwm"ﬂmm"m;
g ? .
(1) wferarre staatihg (2)  TgHrTaEE AnTEdie qeiy
(3) W@ dfu@rten v (4) A wdere AT

Which of the following contains the wording “To uphold and protect the sovereignty, unity
integrity of India” ?

(1) Preamble to the Constitution (2) Directive principles of the state policy ¢
(3) Fundamental Rights (4) Fundamental Duties

—

17. AT HEaaddT §ad) @eie f9uE e e l
(a) Tod ATl A E PrE SArrdl o oréar onasad ord d STedT WA g
NGV HGTTEH A,
(b) T =TT AT fee w9 fagafier @ wER-gTEe an e
(0) W=a rawEre T ey aEeE @ Hed.
(d) T FES " 99 T aaTdl 62 a9 9O Bedd Al
TUAID B feem /3 @iy anz/a?

(1) & (a) (2) & (b) (3) (@), (b) 3 (@ (4) (b, (c) N (d)
Consider the following statements regarding an Advocate General of the state :

(a) He must be a person who is qualified to be appointed as a judge of a High Court.

(b) He enjoys all the privileges and immunities that are available to a judge of a High Court.
() He receives remuneration that is available to a judge of a High Court.

(d)

He halds office for a period of five years or up to the age of 62 years.
Which of the statement/s given above is/are correct ?

(1) (a) only (2) (b) only (3) (a (b)and (©) (4) (b), (c) and (d)
18. WREdDh! FIVIAT G TR TeEmade aried fas i s v g2ds

RreEE Fw 2

(a) I T AT (b) WA T whRE

(¢) aiireart s (d) IHTUT -Ew |

qaT T

(1) % (a) (2) W (b) (3)  (b) @rivT (c) (4) (o) amfer (d)

Which of the following committees recommended the direct election of Sarpanch of Gram Pancha

in Maharashtra ? & |

(a) Baburao Kale Committee (b) PB. Patil Committee
(c) Bongirwar Committee

(d) Vasantrao Naik Committee
Answer options :
(1)  Only (a) (2)  Only (b)

(3) (b) and () (4) (c)and (d)

o1 SHIHIA I / SPACE FOR ROUGH WORK
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19, I AT BT Bewietel RN ke o) @ ?

(1) & - 220 ) @@ -221 (3) M- 213 (4) e - 226

Under which of the following articles, 3 High Court can issue writs ?

(1) Article - 220 (2)  Article - 221 (3) Article - 213 (4) Article - 226

20. AN WA B U ey =y 2

(1) WA S S R s drearen HAET Qi Hieie we T e
(2) vEER 9 i T frg e T,

(3) Wmﬁmmﬁﬁﬁamﬁ

(4) T WS st sy w T TS S,

Which statement is not correct regarding ‘Gram Sabha' ?

(1) Itis abody consisting of persons registered in the electoral rolls of a village comprised within
the area of the panchayat level,

(2) Itis a village assembly consisting of all the registered voters in the area of the Panchayat.
(3) Its powers have been determined by the Central Government.

(4) Its powers and functions at village level are like State Legislature at the state level.

21. W] IS A HEETHTHIT TG SUaT IO 930 Semish Harrd omg ?
(1) w270 (2) vH 280 (3) elH 275 (4) heiq 265
Which of the following articles deals with the grants in aid by the Union Government to the states ?
(1) Article 270 (2) Article 280 (3) Article 275 (4) Article 265

22, TG qfea g S faue s g ?
(1) TATE UT(aE TATHTH AEETHENI ST dere B,
() Td we 291 HET ST HHI HIVAH HEHT 20,
(3) WIS T 2070 gdd Pra et Y T T
(4) W & 2030 T HET T 9 TEd .

Which of the following statement regarding the Glasgow Conference is not true 7
(1) Glasgow conference was based on climate change.

(2) Al the participating countries agreed on less Carbon Emission,

(3) India will reduce Carbon Emission upto zero till 2070.

(4) India will reduce Carbon Emission upto zero till 2030,

——

N FERIA AT / SPACE FOR ROUGH WORK PT.0.
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23, WS B e am @ ?

(1) T T s ard 26 AT 1949 AN,
(2) 42 = TEERd e B v AISUT S
(3) 42 &t TTGER 1976 T HVATT AT,

() T T TR, onftie s T = ¥ e R (SE0E) T gy
HTea.

Which of the following statement is not true ?

(1) The date of implementation of Indian Constitution is November 26, 1949.
(2)  "Secular’ word was added by the 42nd Constitutional Amendment.
(3) The 42" Constitutional Amendment was done in 1976.

(4)  The ideals of Social, Economic and Political justice has been drawn from the Russian (USSR
Constitution.

24,

TR Taam T

(a) o 3 THR, HOT TN YH2Y e &6 T49 TF Wi &5 9.

(b) WHT T=aredn dM 9 A T3 9.

() &M T faftel wavidim fairas wisarn wewdidl gd fmenw amavas o

(d) 6 fadam Wt T Fwarn, Fatua T fisent e g fhar T S 99

it @ faum/faum fres amyanka 7
(1) () amioT (d) (2) (@), (b) AT (d) (3) (a), (b) NP () (4) wd

Consider the following statements :

(a)  Under article 3, Parliament can create a new state out of a state by separating territory.
(b) Parliament can alter boundaries and names of states. .
(c)

The Bill Seeking creation of new state requires prior recommendation of President.
(d)

[tis obligatory to accept the advice or opinion of the state assembly concerned, on such bl
Which of the above statement/statements is/are correct ?

(1) (a) and (d) (2) (@ () and (d) (3) (a), (b) and (c) (4) All

e FTATATE W / SPACE FOR ROUGH WORK
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(2) Faum (b) FET
(3) a’Fﬁt’tﬁmﬁaﬂm (4) aﬁ%‘rﬁiﬁl‘dﬁw

Consider the following statements -

(a) I:?:-;etetc;:]alnnumber of ministers, excluding the Chief Minister, in the Council of Ministers in a

all not exceed 15 percent of the total strength of legislative assembly of that state,
(b)  The total number of ministers, excluding the Chief Minister, in a state shall not be less than 12.
Answer options :

(1) Statement (a) is correct.

(2) Statement (b) is correct.
(3)  Both the statements are correct.

(4) Both the statements are false.

26.

“-—-—k_-_'—‘——___

(d) I wTaTe

(e) dmde Teram

T Y

L) @ (b), (@ FF (2) (b), (), (d) T (3)

Who from the following persons did not
other help to the freedom movement ?

(@) Jamnalal Bajaj

(b)  Vadilal Lallubhai Mehta
(©)  GD. Birla

(d) Lala Shankarlal

(®)  Walchand Hirachand
Answer options :

W)@, @) (©only (2 ()@ ony (3) (0 and (e only

(c) 3T (e) Warmy  (a) (b) anf1 (d) waw

join the Indian National Congress, but gave financial and

(4) (b) and (d) only

I FTIWTA AN / SPACE FOR ROUGH WORK
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27. W YT Qi 20 ¥ 1857 Tf Rrfteni @t Aww@ET Fad Sl S S 397 Bl
ft.
(1) g - 2) %
(3) wHw 4) ey
Bhagwantrao, the king of was hanged on 20th May 1857 because the British suspected
that he had helped the mutineers.
(1) Nandur - Shingote (2) Peth
(3) Harsul (4) Dindori
|
1samimlgusaﬁzmmmﬁmm? |
(1) = faw (2) weTEaS fXa| !
(3) = Ram (4) @HIX fEE|
16 October 1905 is recognized as :
(1) Independence Day (2) Republic Day
(3) Day of Mourning (4) Workers Day

29. 3.9, 1911 §ll MGG #4918 qiigerdl geara Hioi el ¢

(1) i wgz (2) wh W (3) wE = (4) @S =d
Who started Air Transport in India in 1911 AD. ?
(1) George Light (2) H.Jones (3) Lord Stuart (4) Lord Durby

30. WrIH Wd g9 SREE S w7

(1) ol AfqEs W TS e (2) WreraEEt gaT

(3) UL FgEE fen @) sffEF 9oaw

Which of the following was the objective of Prathana Sabha ?

(1) The moral progress of society (2) Oppose the caste system
(3) Motivate national awareness (4) Purification movement

31. YT 9eas e S fer v e e e

(1) =@ (2) TWAR (3) V&g (4) @M
In which district in Maharashtra the underground movement had started first ?
(1) Satara (2) Chandrapur (3) Jalgaon (4) Thane

FHol1 FIHTETA AT / SPACE FOR ROUGH WORK
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(3) BEYT T TSI (4) AT T AR

Which Princely state got recognized as the first one to make primary education compulsary ?

(1) Baroda (2) Aund and Satara
(3) Kolhapur and Barada (4) Junagad and Hyderabad
JP—
33, ‘I S TS o e s s @eeia S S o ?
(1) e NRIETH TqH (2) oY FieE faaw
(3) It =g (4) I OIS HTTEHT
Who among the following called Lokmanya Tilak as a ‘Father of Indian Unrest’ ?
(1) Allan Octavian Hume (2) Sir Valentine Chirol
(3) Aravind Ghosh (4) Gopal Ganesh Aagarkar

34, T e qReed) @ S SraE S 7

(1) 15 AT 1906 (2) 15 AT 1947
(3) 26 AMFGTL 1947 (4) 26 AHETT 1950
When was National Educational Council established ?

(1) 15 August 1906 (2) 15 August 1947
(3) 26 January 1947 (4) 26 January 1950

35, Fiv Gl T SEE Od @A B A A% T ?

(1) 1858 (2) 1957 (3) 1861 (4) 1919
Which Law, made ‘Governor General’ as Viceroy ?
(1) 1858 (2) 1957 (3) 1861 (4) 1919

. “yfw s e gaTd’ I H o
(1) = aEmERg st (2) T Wi
(3) e e () 7z g e
Who established the ‘Akhil Bharatiya Harjan Sangh' ?
(1) Dr. Babasaheb Ambedkar (2)  Mahatma Gandhi

(3) Dadabhai Naoroji (4) Gopal Krishna Gokhale
\_\______ e ——
2 e ST / SPACE FOR ROUGH WORK —_—
'IL e
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37. WrSal @
(a) W fum () Pt dEa A
(b) 3 TET FHL (i) T AwEs Frel ATl Eel
() Tomas =mET st (i) YT Heael AETTd) T
(d) Faz oI

(iv) @ aard)
T whe
(a) (b) (¢) (d)
(1) (wv) () ) Gh)
(2) (i @ (v (i)
(3) )y iy (v) )
(@) Gy Gv) () )
Match the following :

(a) Madanlal Dhingra (i) Establishment of Mitra-Mela

(b)Y Anant Laxman Kanhere (i)  Attack on John Balmfield Fuller

(c) Vinayak Damodar Sawarkar (ili) Murder of Jackson, Collector of Nashik
(d) Hemchandra Das (iv) Murder of Curzon Wyllie ;

Answer options :

(a) (b) (c) (d)
(1) (v iy () (i)
(2) Gi) M Gv) ()
(3) Gy Gy (v ()
(4) (i) (v G ()

38. T ST Y8 aion RN gée s o aieE e ?
(a) yada fymaat
(b) HFE fammiterd wher ¥
(c) =g Erensl Therdl AT
(d) Ha$ Winmen HEAHTEM TR HIE

wardt =9
(1) (a), (b) anfdr (d) w= (2) (a) 2 (b) wad
(3) (c) 3o (d) Fad (4)  (b), (c) 3mior (d) Had

Which of the following statements are true about Jaganath Shankar Seth ?
(a) Architect of Mumbai

(b) First Fellow of Mumbai University

(c) Established New English School

(d) First Member of Bombay Province Legislature
Answer options :

(1) (a), (b) and (d) only (2)

(a) and (b) only
(3) (c) and (d) only

(4) (b), (c) and (d) only

< FTTETE AT / SPACE FOR ROUGH WORK
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39. T FIAEH ST Ao sdwast o 7
(1) Az wEEt 0
‘ (2) T T U
(3) TTEE TBAT FEH (4) g HwT 9ut

Who is known as the first revolutionary 7
(1) VD. Savarkar

(3) Vasudev Balvant Phadke
10. ﬂﬂagirfﬂﬁmwaﬁ%uﬁ HHET P firer # e Rreromd G S Ete ?

(2) SI. AETERA AASFHT 7 Ty Nl

(b) TERET Ft

(2) Raja Rammohan Roy
(4)  Shyamji Krishna Varma

(1) (a9 (d) (2) (b)= (d) (3) @4 (c (4)  (d) &&=

Who started the self-relient scheme called ‘Earn and Learn’ for the education of poor children ?
(a) Dr. Babasaheb Ambedker and Mahatma Phule

(b) Mahatma Phule

(c) Maharshi Shinde and Agarkar

(d) Karmaveer Bhaurao Patil

Answer options :

(1) (a) and (d) (2) (b) and (d) (3) (a3) and () (4)  Only (d)
41 ST 2011 WA HEMOETI O W 6 FUNRTHIN AERE T it Redt oy ?
(1) 894 (2) 864 (3) 854 (4) 898
What is sex ratio of 0 to 6 age group population in Maharashtra as per the census 2011 ?
(1) 894 (2) 864 (3) 854 (4) 898
2. mrrerdm gat wata Sa frat @ ?
(1) wogars (2) dren (3) @ 4) trea
Which is the second tallest mountain peak in Maharashtra ?
(1) Kalsubai (2) Torna (3) Salher (4) Ghodav
———
8. 2011 w1 srrTorETT wree S e e e w st o
(1) sy (2) @ (3) ST (4) ZTan
According to the 2011 census, which of the following district has highest female literacy ?
(1)  Amaravati (2) Beed (3) Jalana (4) Nandurbar
""-_.____‘___
=0 Frr WM / SPACE FOR ROUGH WORK PT.0.
:.. ! e —
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44, TEORRA TR SERGT % S0 ?
(1) 41 (2) rEE (3) @ (4) @I
Which is the first hydelpower station in Maharashtra ?
(1) Veer (2) Radhanagari (3) Koyna (4) Khopoli

PI—

45.

TS FYIT ST WReE T R Sl ?
(1) s — g it gl

(2) IEEEERE — TR S W

(3) WETE — BEEEY - AMge S KR

(4) B AT Tl AenfiE wee

Which industrial region of India is known as ‘Rubr of India’ ?
(1) Kolkata - Hooghly Industrial Region

(2) Ahmedabad - Vadodara Industrial Region

(3) Madurai - Coimbatore - Bengaluru Industrial Region
(4) Chota Nagpur Plateau Industrial Region

46.

TS AT

e LR
(a) ww@TQ (iy Frgarst
(b) FrHTTE (i) =rE@
(c) femetr (i) aTiead
(d) Tl (iv) STETL
ward St

(a) (b) () (d)
(1) (i) vy ) ()
(2) (i) Gy () (i)
(3) (v) (i) (i) (GiD)
(4) (i) () (iv) (i)
Match the pair:

District Project
(a) Satara (i) Natuwadi
(b) Amaravati (i) Savali
(¢) Hingoli (i) Aandhali
(d) Ratnagiri (iv) Shahanur

Answer options :

(@ (b) (c) (d)
(1) @iy Gv) ) ()
(2 @iy ) @) (v
(3) Gv) (i) Gi) (i)
4y ) M  (v) (i)

T FTHTETE AT / SPACE FOR ROUGH WORK
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7. S W
HYQYg oy

(a) CTTET () W

(b) T (i) 3o

() S (iif)

(d) ;1;1@17 (iv) Ty

i R

@ (b) () (d)
(LM i) (v
2 () Gi) @) (v
(E) IO I (1) I (11)) (iv)
@ @v) (i) (i) ()
Match the pair :

Sanctuary Place
(a) Tansa (i) Jalgaon
(b) Yawal (i)  Thane
() Maldhok (i) Solapur
(d) Nagzira (iv) Gondiya

Answer options :

(@ (b) (c) (d)
(1) @) @) Gi) (v
(2 () (i) () (i)
() () (i) (i) (iv)
@ vy @iy (i) (@)

——

18, AT 2011 WHI9T BV RTearel Slegear wRg o ?

(1) e (2) Womd (3) 7R 4) TaTE

As per census 2011, which of the following districts has high population ?

(1) Aurangabad (2) Jalgaon (3) Nanded (4) Yeotmal
‘_“—--—.___

@) 3, Er?mmar AT, q‘ﬁlﬁ%ﬁﬂr '
Which of the following is the correct descending order of the places in Maharashtra acco rding to
annual rainfal| ?
(1) Amboli, Lonavala, Mahabaleshwar, Matheran
Amboli, Mahabaleshwar, Matheran, Lonavala
Lonavala, Amboli, Mahabaleshwar, Matheran
Amboli, Lonavala, Matheran, Mahabaleshwar

= FTRTHTE AT / SPACE FOR ROUGH WORK PT.O.
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50. AWES TR Tl TETE BT WEHTTEAT Sk ?

(1) SR aEmEd (2) Feregterean F@rEd

(3) ®fka TEwEd (4)  orfifim =

What are the types of rural settlements in Bundelkhand region ?

(1) Circular Settlements (2) Dispersed Settlements

(3) Compact Settlements (4) Semi-compact Settlements
51, W@AR @ Y wita @ T T T AT FOAT 3.

(1) TS (2) Hwg md

(3) R (4) fogze sfrn i

Protected area of Melghat Tiger Project has been declared as a national park.

(1) Gugamal (2) Sanjay Gandhi

(3) Chandoli (4)  Priyadarshini Indira Gandhi

52. WelIZIare AIvTed] aroren faeds’ awor anfor wng Sren s ‘T FOET A WA W 7

(1) argT 9gi @ (2)  @IT FEl a0

(3) AU T (4) WeTTEU 9T

Which dam and its reservoir is known as Wilson dam and Aurthar Lake respectively ?
(1) Upper Wardha dam (2) Lower Wardha dam

(3) Ujjani dam (4) Bhandardara dam

§3. WTTATqEl ST Y STl SO 2 7

(a) 9&ars (b) FTowEl A

(c) W@l 9l (d) omTg anEs

@ St

(1) ® (a) 2)  (a) A (b) (3) (o), (0 AR (d) (4) T
What are the causes of sail erosion in India 7

(a) Deforestation (b) Destruction of grasslands

() Shifting agriculture (d) Wrong methods of cultivation
Answer options :

(1) Only (a) (2) (a) and (b) (3) (b), () and (d) (4) All the above

F= FTEIETE AT / SPACE FOR ROUGH WORK
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A
gt AT A% WIS TS TR Y 3 wery k.
(1) @ (2) @ Ehw (3) TTE B (4) Fdede
Assam has the largest reservoirs of in India.
(1) Mineral oil (2) * Iron ore (3) Coal (4) None of above
- _

g5, QR PIVR/BIT R/ fant et Tmy/adm 7
() TG ® UE T R ong ¥ wrager gda < .
(b) TiereTS SR AT STt ¥ wErre TraTE < W ik
(¢) T S E 9] TeRa S s o,

T S
(1) faum (a) anfer (b) Lo 2) Faum (o) anfer (o)
3) faum (b) (4) faum (o)

Which of the following statement/s is/are incorrect ?

(3) Chikhaldara is a hill station and located in Satpuda mountain range.

(b) Gavilgad and Melghat mountains are found in southern part of Maharashtra state.
(¢) Balaghat mountains are found to the north of Shambhu Mahadev mountain ranges.
Answer options :

(1) Statement (a) and (b) (2) Statement (b) and (c)

(3) Statement (b) (4) Statement (c)

—

. Treiret far feramoe e
() Frode aftear Prfe 0T 99 AT,
(b) e STErT ¥ S S TRIAUET FH SR AT G S v,
(¢} wifteg ¥ wafatumen SEdrEral STamEaar .
T wor/d R/ TiET e/ ?
W @efi ) (2 ®FTEQ ) (@ R (g @  Tie T
Consider the following statgments :
(a)  Absolute poverty can be eradicated.

(b) Relative poverty is based on comparison of lower income group with higher income group.
(©)  Poverty is not responsible for degradation of environment

Which of the statement/s given above is/are correct ?

Hhﬁgi‘jf)and(b) (2) (b)and () (3) (a) and (¢) (4)  All of the above
T Sy ST / SPACE FOR ROUGH WORK PTO.
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18

f0) GO ART WG WATT HEA A HET A
(b) el dar fier qv-1 A SIS T S ATt ST,

@ =
(1) (a) wed (2) (b) ®ad
(3) (a) a1 (b) T 4) IUES B & A

Which of the following statement/s is/are incorrect ?
(a) Currency notes in circulation are issued by the Government of India.
(b) Narrow money or M1 includes currency with the public.

Answer options :

(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) None of the above
58. TUISHAY TSR AT (SGSY) AT stmaaravil AThd B
- (a) = g (b) Wiy mor da
() FEHI dh (d) uesh da&
Tt Sy
(1) (a) B (2) (b) o (c) (3) (a), (b) 3TRT () (4) (a), (b) NPT (d)
The implementation of SGSY is done by :
(a) Commercial Bank (b) Regional Rural Bank
(c) Co-operative Bank (d) Foreign Bank

Answer options :

(1) Only (a) (2) (b) and (c) (3) () (b)and (@ (4 (a) (b)and (d)

59,

ST AT AT9T e BIOTT WbTTe TR Jad ?

(1) =@ (2) S (3) Eml (4) wBH
What kind of unemployment arises due to the use of Sophisticated Technology ?
(1)  Cyclical (2)  Technical (3) Seasonal (4) Disguised

A1 FATHR AT / SPACE FOR ROUGH WORK
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(o, Pl R et Tt st e et 3
(a) o9 aarardl et Suerer we A,

(b) F NP YA &t R arefvarad e B

() Wﬁﬂmﬁﬁﬁﬂﬂm.

(d) WiEEH IR Prov F.

@ I

(1) (a) B (2) (a) amier (b (3) (b) T 4) (d) Ji (o)

Development Financial Institutions were established to

(a) provide short term funds

(b) develop industry, agriculture and other key sectors
(c) regulate the money market

(d) regulate the capital market

Answer options :
(1) Only (a) (2) (a) and (b) (3) (b) only (4) (d) and (¢)

6. wWrew faur foara =
(a) TaTE Pt STEAT faEEE I FArl GG HEA <o
(b) TaTE AT ErEEi HHYTES HT.
() marE sl SarmETer Snfid Hed Hd.
(d) rarE ety Rremmardl anfife #ed HT.
T B Rar /A aiEr g ?
(1) (a) v 2 @aRr® G @b aiiQ @) (), b R (@)

Consider the following statements :

(a) NABARD offers loans for agricultural sector development.
(b) NABARD provides loans to rural business.

(©) NABARD makes financial loans for the urban industries,

(d) NABARD provides financial support for urban development,

Which of the above statement/s are correct ?

(1) only (a) (2) (a) and (b) (3) @ ()and () (4) (a), (b) and (d)
\__—_—_—
h’"“‘"‘ﬂﬂl':i‘{ AT / SPACE FOR ROUGH WORK PT.O0.
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62. WIMTID BV FHE UL S’ T1 FHeTh Faiferer orme ?

1) ¥ (2)  SHgmeh
@) e (4) Tt BT
Which of the following concept is related to the concept of “National Income” ?
(1) Stock (2) Micro
(3) Flow (4) None of the above

63. HHA SIATAD VT :
(1) U Tegw AT Samar FH 8.
(2) WEwE Tegw HTEwTG GaE SR S|,
(3) GrEwfE Hegw AT WEwE @9 q9H H.
(4) T{dH Tl ATE.
What is a balance budget ?
(1) Public revenue is less than public expenditure.
[2)_ Public revenue is higher than public expenditure.
(3) Public revenue and public expenditure are the same.
(4) None of the above.

64. fr dd HRTTE 97 B ?
(a) @i, T, W (b) 9, SR SmhEE
(c) <M, s, fawtes (d) afer, afFor
TR B Prem/fram e anga ?
(1) o (a) 2) (a) anfT (b) (3) (@) (b) 3T (@ (4) () (b) ST
Which are the founder countries of BRICS BANK 7 d
(a) Brazil, Russia, India (b) China, South Africa )
(c) Japan, Germany, Switzerland (d) Belgium, South Corea
Which of the above statements are correct ? -
(1)  Only (a) (2) (a)and (b) (3) (a) (b and () (4) (a) (b)an

el FHIRIA AN / SPACE FOR ROUGH WORK
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5. AFaEY Rumay _ L CREnS 3.
(@) TN T (b) WET aEw
(c) S9H hﬂTu'lﬁhH CEG| (d) TS T
it W
SVRNC) (2) (a) anfr (b) (3) (), (b) 3fT (© (4) (a), (b) @fr (d)
Demographic transition is a result of
(@) Changes in mortality (b) Changes in fertility
(c) Changes in income distribution (d) Urbanization
Answer options : )
(1) (a) (2) (a) and (b) 3) (), (b)and (¢ (4) (a) (b)and (d)
6. DIV AIHETL TG qRen 9% 79 ¥ R oY ?
(1) IovdaT Fra (2) g e
3) g g (4) SH-"F G
Under which scheme free gas connections are given to poor women ?
(1) Ujjwala Yojana (2) Saubhagya Yojana
(3) Jeevan-Jyoti Yojana (4) Jan-Dhan Yojana
7. FEHAIGT YT BT S B0 W 2 7
(1) TG &K (2) &% @R
(3) @i FIER (4) FEeniEE w9
Who receives income from Income Tax ?
(1) State Government (2) Central Government
(3) Local Government (4) Union Territory
8. WAl WITAdET BV IeT T HHN HIOGTEIS! G& BN STl 8 ?
(1) SR & i
(2) TR TSI dreT
(3) wavfordr oredl TSP FreT
(4) wiwpien fawre Srdnd
Which of the following schemes has not been introduced for reducing poverty in India ?
(1) Employment Guarantee Scheme
(2)  Jawahar Rozgar Yojana (JRY)
(3)  Swarnajayanti Shahari Rozgar Yojana (SSRY)
(4)  Cultural Development Programme
-‘-x'-‘_—-—__
P e ST / SPACE FOR ROUGH WORK P.T.0.
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69. RS ST HUZAY WIRATY BVl AR S JHaT I ofTe 7
(1) WiEph &
(2) T &
(3) T &
(4) amrEad Afgs A

In which sector, India is suffering more due to "WTQO" ?

(1) Cultural Sector
(2) Tourism Sector
(3) Political Sector
(4) Trade Related Intellectual Property Rights (TRIPS)

et

70. QIR B BT T WG SdeIaea dawdsd HT A ?
(1) TEED BT @) fFmrat (3)  TAEA W (4) TG FT

Which of the following taxes is not the indirect tax in Indian Economy ?

(1) Corporation Tax (2) Sales Tax (3) Excise Duty (4) Customs Duties.a:
k|

71. PToierTaT 9 @ A@E

(v A g (2) &S (3) WEARTEA (4) 0 AR
Who discovered radioactivity ?
(1) Marie Curie (2) Rutherford (3) Einstein . (4) Henry Becquer_ﬂ

72 1 O T IRl S g9 GevaETel e Al |
(1) wwade Zu (2) @A FUT
(3) oraae 2 4) oo adr
are commonly used as rear view mirrors in vehicles.
(1) Planoconvex mirror (2) Plane mirror
(3) Concave mirror (4) Convex mirror

FoA SHTETA AN / SPACE FOR ROUGH WORK
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3. 7 1 g T Hete I am, ' l
1) 911 W TR e | 8, 2.5 e i
@) 5313 T e @) 941 g de
Energy equivalent of mass 1 u js .
) S1LMev (2) 921 MeV
3) 931 Mev (4) 941 MeV

. WS BT ST Rrerdor @A amren qroard STEVTORE BT A @ 2

(1) K (2) Cu (3) Ag (4) Au
Which of the following metal cannot be extracted from aqueous solution of its salt ?
(1) K (2 Cu (3) Ag (4) Au

(1) &R (2) TraframEe (3) URTgERE (4) CTTHEEE
is an important ore of aluminium.
(1) Halite (2) Cryolite (3) Pyrolusite (4) Chalcocite
76. A AR WS- Al

(1) Ca Ba, Ra Ta (2) Ca, Ba, Ra, Pa (3) Be, Re, Ge, Se (4) Na, Ca, Ba, Ra
The set of the elements belonging to S-block is .
(1) Ca, Ba, Ra, Ta (2) Ca, Ba, Ra, Pa (3) Be, Re, Ge, Se (4) Na, Ca, Ba, Ra

. W P grdter g9 ST qarEder o g

(1) uifemiithe, PiAEw, sEdes

2) =i, fed=d onfr Srentraw

(3)  wiw, R=d, oo

@) wim, Rez=ll, SrefEe, SiaETes [HY g AT 3% TR
Which of the following set of terms is best applicable to Obelia ?

() Polymorphic, Colonial, Aquatic

(2)  Marine, Sedentary and Colonial

(3)  Marine, Sedentary, Polymorphic
4)  Marine, Sedentary, Colonial, Polymorphic with true alternation of generation

| IR W0 / SPACE FOR ROUGH WORK

Scanned by CamScanner



Y14 24
78. Y{¥zq W qraTeAT fome SrSaT e
(1) 10-15¥ET () 10-20@em  (3) 14-43¥E;m  (4) 15-40he.

The number of legs found in Peripatus is

——e™

(1) 10-15 pairs (2) 10 - 20 pairs (3) 14 - 43 pairs (4) 15 - 40 pairs

79. FEr A ¥ Wis T Hill 9 ?

(1) fafverm 1758) (2) € 9 (1973)
(3) FTIRT (1838) - (4) <uw (1664)
Generic name of cockroach ‘Periplaneta’ was assigned by :

(1) Linnaeus (1758) (2) De Beer (1973)
(3) Burmerister (1838) ' (4) Bentham (1664)

80. WETR FE TRER FYE G SR Al O i S ¢

(1) FEmwEE (2) WHTEEZH

(3) P (4) UeTEHE
Which of the followings are known as Amphibians of plant kingdom ?
(1) Pteridophytes (2) Bryophytes

(3) Gymnosperms (4) Angiosperms

81. fHem-mars Ppzai] TTqaTaT STl el IV GEIAT Wi BT ?

(1) 9987 g (2) e wE

(3) Y ww (4) oftEeT g
Insecticide poison the insect pests by affecting their

(1) Respiratory system (2) Nervous system
(3) Muscular system (4) Circulatory system

FHoA FTATHTR AEN / SPACE FOR ROUGH WORK
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g2, SN DI REt/Rer it srard e gzt s o 7
(3 NS T Fe ¥ TR arzy iy, (b) O, Ca anftT Mg ¥ FTaBIIAIHE 3.
(©) CUonGﬂf*TMn%mawﬁma;aaan%a.td) B, Mo 31T CI ¥ srasas dra@ o 3ied.
qatdl T

(1) (a) (2) (@) s (b) (3) (@) o () (4) () W

Which of the following is correct statement/statements regarding inorganic nutrients in plants ?
(a) N, Sand Fe are macronutrients (b) O, Caand Mg are Micronutrients

() Cu, Zn and Mn are essential elements (d) B, Mo and Cl are non-essential elements

Answer options :

(1) (a) Only (2) (a) and (b) (3) (a) and (c) (4) Only (c)

3. 9% TEA UTREATGiey & (e ad, &1 U a2 A fauTpe g, WA & e
(1) Wgem, s 1937 |l (2) Hgen, 3T anfieha 1999 T
(3) FarEeden, ey 1937 | (4) waTEErET, TR anieed 1999 TR

West Nile Encephalitis (WNE) is the inflammation of the caused by West Nile Virus, WNE
was first diagnosed in the West Nile region of

(1) Brain, Uganda in 1937 (2)  Brain, South Africa in 1999
(3)  Nervaus system, Uganda in 1937 (4) Nervous system, South Africa in 1999

- B2 92 AyTEr ¥ A (fEymeEE) A ard ek

(1) i wiftsT (2) @eRUTgAT FeeRTRTE
@) ormitew ary (4)  URmrafirrT ofsqt
White Button Mushrooms are scientifically (Biologically) named as
(1) Pleurotus florida (2) Volvariella volvaceae
(3)  Agaricus bisporus (4)  Eremothecium ashbyi
T FTETTE WM / SPACE FOR ROUGH WORK RT-O,-
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85. ST TN AT Y, WIRG: amodTR TaRer s wew, Wi e
AT,
(1) Peafetm ) I (3) FEmWRE 4) of=hairefET
hormone is released when water content of blood fluids is less than normal.
(1) Creatinine (2) Renin (3) Vasopressin (4) Angiotensin

86. T MEFCTZ HILN 1§34 1LOR ST SR, A T ST DFH) SIETRTATS! vl Gafd e STt
(1) FHIN (2) EHKN (3) EGIL (4) FHIN

If the letter group HJLN is coded as ILOR, then by the same principal what could be the correci
code for the letter group DFHJ ?

(1) FHIN (2) EHKN (3) EGIL (4) FHIN

87. I3 5 faur anf wiav 3 faum TaRre o uha @ Tafa JoEw e, Waﬁwm
| iR PRRW woT vt Pas gheas aar s e 3 1 e & e

2 faurmrat e fraed faum smraen 7.

(a) Ny Tam denes A o,

(b) ‘I BT TS I ITE.

(c) ‘W ® WaieA I ame.

(d) ‘I werad Helree ATt ord.

(e) walier WE T s s,

O S

(1) (b), (e). () (2) (b), (c), (e) (3) (o) (a) (d) (4) (b, (d), (a)

Given below are 5 statements followed by options composed of 3 statements put together in :
specific arder. Choose the option that indicates logically valid argument. To be valid the 3%
statement of the composition should be the conclusion based on preceding 2 statements.

(a) Modern industry is research driven.
(b) ‘Impro’ is a modern industry.

(¢) ‘Impro’is research driven.

(d) ‘Impro’ may be research driven.

(e) Research driven industry is modern.
Answer options :

(1) (b). (&) (9 2 () (@) (@ 3) (0 (@), @ (4) (b, (d), (a)

<=1 HTHTATA AR / SPACE FOR ROUGH WORK
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88. a'ﬁ?[ BB G T
(2) o FHEMET THRT o,
(b) Fiftrar femden ww o,
(c) aml Reradia 39 o Rremen Temert o
(d) R arpien 39 o,
aftet qegiaT ST g Pt sivar,
(1) mhmfwwman%mfmﬁgmaﬁ.
(2) 3 fAivaand waid awEr anfor qTH I,
(3) ﬁ!ﬁmmmmmmmwmmﬁﬁﬁmsmmﬁ
(4) ﬂﬂhwﬁwmﬁuﬂhﬁﬁmmmmmﬁﬁﬁﬂaﬂmwm.
Examine the following facts
(a) Anuis heavier than Bano.
(b)  Cynthia is taller than Dina.

(€)  Bano js of same height as Dina but heavier than her.

(d) Dina is taller than Anu.

Select the correct conclusion based on above facts.

(1) Cynthia is the heaviest and Anu is shortest of all

(2)  Anu is definitely heaviest and shortest among all.

(3)  Cynthia is heaviest but it is impossible to conclude who is tallest of all.

(4)  Itisimpossible to draw conclusion about who is heaviest but Anu is definitely shortest among
all.

89. A B C3 Dl famariws v fem dr gerh anka. i UHES A TS ATEd. SHAEE
e, FoeaS 7w anfn dearE an ga s, B S C 9 ) Yerh oEa < D HF A Ve W
T&d ATEd. mcaﬁrDﬁmﬁgmmﬁmmmxsmém@ﬁfmsﬁwmhwﬁm.
faum -

) A civ B 71 Fraiss figE MM 12wk s,
(b) D 3T A T ZarES g FaRT 15 g s,
() Canfor D a1 2w fm fewr 18 s sraemm.
(d) C anitr 8 a1 Zaiws frrget v 9 gk s

@ w6y
(1) (a) T wd (2) 0w =4
(3) TUId TmE A (4) & (a)

Total number of books that students A, B, C and D have is thirty. One of them
another ane is having six, third one is having nine and fourth one is havin
fewer books than C and D is having more books than A. If C has fewer b
statement/s that/those is/are not necessarily true.

Statements : -

(8) A and B together must have at least 12 books.

(b) DandA together must have at least 15 books.

(c) Cand D together must have at least 18 books.

(d) Cand B together must have at least 9 books.
Answer options :

has three book,
g twelve books. B is having
ooks than D, then select the

(1) Al but (a) (2) All of the above
(3)  None of the above (4) Only (a)
FEI FINIAE AT / SPACE FOR ROUGH WORK PT.0.
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90. iYW MR TR &% 7 WEweATarTey 3.

™ A B C D
s (dh.fed) 80,000 50,000 10,000 5,000 .
AIGHEA
16 10 4 3
| (eTamed)
: [l W e SSNEAT e T B 7
| m A @ ® @ C @) O
|
| +  The following is the information of Area and Population of States. :
. |
State” 7|+~ A B c D
Area (in Sq. km) 80,000 50,000 10,000 5,000
1 :
Po'pu1at|0n 16 10 a 3
(in Lakh)

Which is the most thickly populated State ?
| () A (2 B (3 ¢ G

' :
|

| | '91. U FiTEH SAEE 10 FAA AT G HTOTET S TS . 2 A 2 A R
| mﬁﬁ.wﬂuﬁsmﬂmﬁmﬁzﬁa%mﬂmﬁwﬁamm. qre wfeemd &
|
|
|

woraen 2 fag A W
¢ 10 FTCE W fraw o B @ 9T T H@an A} &9 e
(1) 2 (2) 3 (3) 4 4 5

10 workers working with same speed were deployed to construct a structure. 2 workers left on the
27 day, another 2 left on the 31d day and this went on till the work is completed, As a result 2 mare

days were needed to complete the work.

Select the number of days that were needed if 10 workers worked for all days.

(1 2 (2) 3 (3) 4 @ 5

T FTHTAIE A / SPACE FOR ROUGH WORK
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92. WEH! fFva 60% ¥ Q. mmmmmmwmmmm?

(1) 25% (2) 30% (3) 37']2;% (4) 40%

The price of sugar is increased by 60%. How much percent a householder should reduce the
consumption of sugar so as not to increase the expenditure ?

(1) 25% (2) 30% (3) 37%% 4) 40%

93. ool Tt e - |

A,B,C,Dmsmwmﬁawmﬂamwﬁwm. B & D =1 Swidiee 40 1.
SHAAT AR, A?rﬁmzfaﬁmsoﬁ.amm-{an%, C & D = wiYerden 50 WY, siawrat ok oy E

& A =TT 70 A, SfaEn o, cmgwmmammﬁwmm
AU HIOMT Targ e,

(1) o PrfyEaar 90 &, Yar e sro,
(2) %ﬁﬂamglﬁ.&mmmgzﬁr.ﬁmmﬁwvm.

(3) o Fifyamadr 9o oy, e T TG 91 . Y Bt srvea,
(@) & PRt o1 . Jar @ty srgurc.

Study the given information

(1) It must be definitely greater than 90 m.
(2) It must be definitely greater than 91 m but less than 92 m.

(3) It must be definitely greater than 90 m but is less than 91 m.
(4) It must be definitely less than 91 m,

94. TT8Td weF oo :
(1) 24-21 (2) 44-22 (3) 62-23 (4) 84-24
ldentify odd element : P
(1) 24-21 (2) 44-22 (3) 62-23 (4) 84-24

——
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WWWWW(G).M(BWWMWHWWM:
X = GGBRBRRBBR
Y =GBRRBRBBRG
7 =RBBRGGBRBR
T R T ez et AT 3R AX A B A A e {
(1) Xy @) Yoz
(3) X amirz (1) HrorETdl A A WIEAT BT e

Consider the following order of a string of pebbles of three colours, Green (G), Blue (B) an
Red (R) :

X =GGBRBRRBBR
Y =GBRRBRBBRG
Z=RBBRGGBRBR

Which two of them gives us identical necklaces prepared by just making the first and last pebblesi
of the string adjacent ?

(1) XandY (2) YandZ

(3) XandZ (4) No one of them are identical

96.

T AT 8% WreAl HIaa 5 7 Hier oM. &1 gVt el 8 fiwaw @ Bergw 1 aw
‘aﬁqm%mmgﬁﬁﬁma‘r. T @l SIS BRI ¢

3 11 7 1
(1) 3 (2) G (3) I (4) B

The denominator of a fraction is greater than the numerator by 5. If 8 is added to the numeratOii

and 1 is subtracted from the denominator, the value of the fraction obtained is % The originba{

fraction is

3 11 7
1 3 (@ T 3 5 (4)

o=
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97. ¥ T FETEAT arrerent T AT 50 7F ok, IR A9TE afd 79 e @@ qamr 6
B, T TN T AR o e T ) ?
(1) 3s5a%, 1528  (2) 38 ¢, 1298 (3) 4099, 10 9% (4) 4299, 8 g
The sum of the ages of a father and his son is 50 years. Four years ago, father’s age was six times as
that of his son. What are the present ages of the father and son respectively ?
(1) 35wyrs, 15 yrs. (2) 38yrs, 12 yrs. (3) 40yrs, 10 yrs, (4)  42yrs, 8yrs.
98. Wsﬂﬁ?ﬁaaﬁagﬁmﬁmmsmﬁmﬁ qeird! HEAT 76 3T A T vl ?
(1) 85 (2) 95 (3) 105 - (4) 115
In a school, the ratio of girls to boys is 4 : 5. If there are 76 girls find the number of boys:
(1) 8s (2) 95 (3) 105 (4) 115
99. 3 I ATRA oI 2 ¢ 5 o STUIfeRt 2 5 ATET 350 oA, araelt a1 A S et s
st R R, 22 |
(1) 165 (2) 180 (3) 350 (4) -105
The ratio between the speeds of two trains is 2 : 5. If first train runs 350 km in 5 hours, then the
difference between speeds (in km/h) of both the trains is:
(1) 165 (2) 180 (3) 350 (4) 105
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(1) 490 (2) 700 (3) 845 (4) 1300
In an examination, 35% of the students passed and 455 students failed. How many students appeared
for the examination ?
(1) 490 (2) 700 (3) 845 (4) 1300
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